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g = Al B 5 3 i3 at
Wi F AR 9,429 12,840 22,269
HEET 5,916 7,586 13,502
4 185 153 338
NEF 6,101 7,739 13,840
HiE A 2,194 1,137 3,331
HEST 1,049 655 1,704
B4 176 66 242
NEF 1,225 721 1,946
SRR BAER 7 7 14
HEEHE 0 1 1
B9 1 1 2
NE 1 2 3
= BAER 6 9 15
HEEHE 0 2 2
B 1 1 2
NEE 1 3 4
[ipei % BAE 13 1 24
HEEHE 8 5 13
B 1 1 2
NEE 9 6 15
g VA S| LAY 2 1 3




BEEE 1 0 1
ESF) 0 0 0
NEF 1 0 1
PR mASK 11 12 23
MEET 5 3 8
B 4 3 7
NEF 9 6 15
BN = BAAK 0 1 1
HMEEE 0 1 1
S 0 0 0
NE 0 1 1
EAF mASK 1 1 2
wERET 0 0 0
B9 0 0 0
N 0 0 0
HhaE mASK 1 1 2
BEEE 0 0 0
B9 0 1 1
NEF 0 1 1
B3E BHHAAK 1 0 1
MEEE 1 0 1
S 0 0 0
NEF 1 0 1




#et RS 11,665 14,020 25,685
MEHT 6,980 8,253 15,233

=4 368 226 594

NEE 7,348 8,479 15,827




